

DELHI DEVELOPMENT AUTHORITY

OFFICE OF THE EXECUTIVE ENGINEER COMMONWEALTH GAMES DIVISION NO.1 SCHOOL BLOCK, SHAKARPUR, DELHI – 110092

E-mail: eecgd1_dda@yahoo.com Ph. No. 011-22481602(Off.)

No. F.5 (360)2022-2023/EE/CGD-1/A/DDA/

Date: 13/3/24

To.

M/s Anjana Facility Management Pvt. Ltd. 1664, Phase-3, Near Jaitpur Police Station

Madanpur Khadar East New Delhi -110076

E-mail: afmpvtltd@gmail.com

Name of work:

Maintenance of Completed Scheme under NA-II at CWG Village Site.

SH:

Desilting of surcharged peripheral Sewer Line by Super Sucker Machine from Akshardham Temple and Residential Complex to outfall

at SPS.

E-tender ID :

2024 DDA_788266_1

NIT No.

10/EE/CGD.1/DDA/2023-2024

Estimated cost:

Rs.1577094/-

Reference: 1.

Letter of Intent No F.5 (355)2023-2024/EE/CGD-1/A/DDA/1716 Dated

29/02/2024

2.

Performance Guarantee submitted in shape FDR No. 617586 dt.

04/03/2024 for Rs. 20600/- of Indian Bank Jasola, New Delhi.

Dear Sir(s),

Your percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at your tendered tender rates as per detail given below: -

1.		Rs.1577094/- (Rupees Fifteen lakh seventy seven thousand and ninety four only).
2.	rate	@(-)74.00% below (Seventy four point zero zero percent below) the estimated cost on DSR- 2021
3.		
4.	Accepted tender amount	Rs.4,10,044/- (Rupees Four lakh ten thousand and forty four only). (As per Annexure enclosed).

You are requested to attend this office along with a non-judicial stamp paper worth Rs.100/- (Rupees one hundred only) to complete formal Agreement within 15 days from the date of issue of this letter.

You are requested to contact Asstt. Engineer-2 of this Division and to start the work at once. Please note that the time allowed for carrying out the work as entered in the tender shall be reckoned 10th day after the date of issue of letter of award to commence the work.

The time allowed for execution of the work will be 30 (Thirty) days only.

Thanking You,

Encl.: Annexure Schedule of quantity.

Yours faithfully,

(Rajeev Kr. Sharm **Executive Engineer**

C.G.D.1/D.D.A.

Copy to: -

- Chief Engineer/EZ/ DDA
- 2. S.E./Eastern Civil Circle-2 /DDA.
- 3. Director (System), DDA through E-Mail ddatender@dda.gov.in for hosting the award letter on DDA's website www.dda.gov.in
- 4. Secy. (CRB), DDA.
- 5. Dy. CAO/CAU/EZ/DDA.
- 6. All Executive Engineers, Eastern Maintenance Divisions & Commonwealth Games Divisions-3 & 4, DDA.
- 7. Labour Commissioner, 5, Sham Nath Marg, Delhi-54 for information please.
- 8. EE (QAC) I, DDA.
- Income Tax Officer (Contractor Circle), 21st Floor, Civic Centre, Minto Road, New 9. Delhi-110002.
- Sales Tax Officer (Work Contract Cell), Ward No.4, Bikri Kar Bhawan, ITO, New 10. Delhi.
- 11. Sr. A.O. (Works)-I/DDA.
- F.O. to C.E. /East Zone/ D.D.A. 12.
- 13. Sr. A.O./CAU/EZ/DDA.
- A.E.-2, CGD.1, D.D.A. along with a copy of Annexure Schedule of Quantity with the 14. following direction:
 - a) To get relevant register from CB/CGD-1/DDA under the signature of undersigned.
 - b) Test check/record of measurement on all important/hidden items is to be done by AE to the extent of 100%.
- 15. A.E. (P)/CGD.1/DDA.
- 16. A.S.O., C.G.D.1, D.D.A.
- 17. Copy to agreement and all concerned files.

C.G.D.-1/D.D.A.

ANNEXURE (SCHEDULE OF QUANTITY)

Name of work:

Maintenance of Completed Scheme under NA-II at CWG Village Site.

Desilting of surcharged peripheral Sewer Line by Super Sucker Machine from Akshardham Temple and Residential Complex

SH:

to outfall at SPS.

E-tender ID :

NIT No.

2024_DDA_788266_1 10/EE/CGD.1/DDA/2023-2024

No.	! Item Description		Units	Rate in	Amount in	
ltem No.	Item Description			Rs. P.	Rs. P.	
1.00	Cleaning and desilting of sewer line with Super-sucker machine with allied equipment taking out of debris/silt from sewer lines and manholes which are heavily surcharged including safe disposal of silt within municipal limit and direction of Engineer-in-charge and thereafter CCTV survey of the sewer line with pan and tilt rotated cameras and recording given 3 sets of soft copies or as directed by Engineer-in-charge. Sealing of all joints if required of sewer line found leaking with admixture of cement and other suitable chemicals, installation of adequate number of over pumping system leak proof stacking arrangement on upstream and downstream side of working length, temporary rising main etc. or smooth flow of sewerage system to avoid flooding in the area. Supply of all material, labour T&P, temporary power connecting with standby generator set of capacity of at least 62.5 KVA gas detector, forted air ventilators etc., as per guide lines laid in IS:11972 (1987), reaffirmed 2002 and International standard Traffic Control arrangement and proper lighting at night, barricading, display of reflective sign boards etc. insurance of workmen and cleaning of site removal of all hindrance / obstructions, unforeseen items, permission from other departments (Department will only assist getting the permission; all-inclusive and nothing extra shall be paid on these accounts).		Mtr.	143.24	12032.00	
1.01	250mm dia RCC Pipe	384.00	Mtr.	206.27	79208.00	
1.02	300mm dia RCC Pipe	486.00	Mtr.	280.76	136449.00	
1.03	350mm dia RCC Pipe	325.00	Mtr.	366.71	119181.00	
1.04	400mm dia RCC Pipe	323.00		000.71		

1.05	450mm dia RCC Pipe	983.00	Mtr.	464.11	456220.00	
1.06	500mm dia RCC Pipe	216.00	Mtr.	572.98	123764.00	
1.07	700mm dia RCC Pipe	579.00	Mtr.	1123.04	650240.00	
Total in Figures					1577094.00	
Quoted and accepted Rate in Figures			Less (-)	(-)74.00% below	-1167050.00	
Quoted and accepted amount in Figures					410044.00	
Quoted and accepted amount in Words		Rupees F	Rupees Four Lakh Ten Thousand & Forty Four Only			

(Rajeev Kr. Sharma) Executive Engineer C.G.D.1/D.D.A.